Quick Start Guide

ML-01 Pyranometer — Ko 2 Preparing to Install |

1 Required Tools

Eaﬁﬁ@@

Wrench Phillips screwdriver Spanner (10mm) Compass
for M2 Screw

Installing without leveling plate

\—~

0

Multimeter - Voltage,
Impedance (Resistance)

M2 Screws x3

Length: Installation ML-01 will not properly

base thickness t + fasten on installation

3~4mm base if screws are longer
than base thickness t +
3~4mm

ML-01 Pyranometer

| 2 Location & Setup Conditions

Thank you for purchasing this EKO Product. ® Select a location with free horizon,
without any obstructions and light

The Quick Start Guide provides basic instructions to help you setup and get .
reflections throughout the day

started. Please see the Instruction Manual for more detailed information about
this product.

Product Warranty

For warranty terms and conditions, please consult the Instruction Manual, EKO
® Place the pyranometer with the
cable facing the nearest pole.

Instruments, or your distributor for further information.

Please Note: All of our products are tested to ensure that they meet their
published specifications. The warranty included in the conditions of delivery is
valid only if the product has been installed and used in accordance with the
instructions provided in the Instruction Manual.

ML-01 Sensor With Leveling Plate (Optional) ® Fix Holes on the Installation Base

— Mounting with leveling plate — Mounting without leveling plate

1 In the Box

Fixing hole width
50

==

North or South North or South

First, please check the package contents. If any part is missing or damaged,
please contact EKO or your EKO distributor.

Silicon Pyranometer (with Signal Cable)

""""""""""" Optional Fixing Hole x2 Fixing Hole x3
a @/ Leveling plate @65 (M6 Bolts) 3-M2 Depth 5
\® Y Leveling screws (M5) x 3 ‘ (mm) ‘ (mm)
1 ll l| f Screws (M2) x 6 (Spare screws x 3)
Bolts (M6) x2 60
@22 @22
] ] Washers (M6) x4
.,/ Nuts (M6) x2 == e
ss i : ©
\ o |
Calibration Certificate (i ) (iTmm “ ¢
\ 1 | !
| I |
Quick Start Guide (This document) 5 (mm) (mm)

*The Instruction Manual can be downloaded from the EKO website. Weight: Body + leveling plate : 75g Weight: Body : 30g

Installation

1 Attaching the leveling plate (optional)

Leveling Screws

Spirit Level

M2 Screws

2 Level the pyranometer

Horizontal surface:
Level the pyranometer by adjusting the leveling screws.

Inclined surface:
Install on an inclined surface after leveling the pyranometer by
adjusting the leveling screws on a horizontal surface.

Spirit Level

Leveling Screw

Leveling Screw

Leveling Screw

Fasten the pyranometer to
the installation base

With leveling plate Without leveling plate

Washers

Fixing Holes
Bolts ®2.5mm
(M2 Bolts)

Fixing Holes

®

@7mm
(M6 Bolts)
Installation Base Installation Base
f f/ — /
Wesners % § i

Nuts Fixing Hole Pitch Fasten the pyranometer on the

0 installation base with M2 screws.
mm

4. Checking the Output Voltage

After connecting the pyranometer and output

cable, use a voltmeter to check for output. ~
Approximate Output Values
When Sensitivity is 50uV/W+m 2

4
o

Sky Condition Overcast Partly Cloudy Clear
Solar Irradiance [W/m?] < 300 > 300 > 700
Output Voltage [mV] <15 > 15 > 35

When there is no Output:

Measure the impedance of the output cable (+/-) and check if the impedance is in the range
between 43~53Q, when using a standard 5m cable. Please contact EKO if the impedance is
outside of this range.

5 Wiring

25
Orange Wire/Blue Terminal ,& 9
/" White Wire/Red Terminal

=~

Connect to Measuring Instrument

4 Measurement & Maintenance

Measurement Range

Set measurement range on the measuring instrument according to the
below output range.

Output Range [mV] i 0~ 100

Calculate Solar Irradiance

Ewnv

Iwmy= ————
S ev/wem

I : Solar Irradiance [W/m?]
E : Pyranometer Output Voltage [1V]
S: Sensitivity [uV/W-m2]

Maintenance

Diffuser: Keep the diffuser clean by wiping it
with a soft cloth. Check for cracks and
scratches on the diffuser and the rim.

\ Cable Condition: Check and make sure the

cable is attached securely and not damaged.

Spirit Level: Check if the bubble is within the
center ring. Readjust if necessary.

EKO INSTRUMENTS (€

Certified  Certified Certified

EKO North America
P. +1 408 977 7751
eko-usa.com

EKO Japan, Asia EKO Europe,
P.+81 (3) 3469 6711 Middle East, Africa,
eko-asia.com South America
P.+31 (0) 70 305 0117
eko-eu.com

Specifications may change without notice. @ EKO INSTRUMENTS CO.,LTD. QSG-MLO01-21-04E



wowm  EKO 2 Bmows | 3 8=

1 BELBD szpccmscan 1 KFEABB @72 ZRDRFITET L BHEREZERLEY

BAT—T LD+ ~ET AT~ DBEREBIC &—/ 0

DRVWTHADANELSH TN SN ERBL TS,

BHIZDOHEAME  mEssouv /W m20HE
+RS1/\— #0) Z/\XF (10mm) papivii 2] v —
(M2 ) - E E-D) B 4 B1) B
' KFRERY HEIRE [W/m] <300 >300 > 700
7 én %J—A 7-\ I=PaN X / -
—~ KFEH ‘f’%@ﬂﬂkéw’m BEIEFHS (my] <15 >15 >35
0 : : RIS AN E B E:
: i HNT—=T)L (+/-) BOETE (R EBIER)E R, 43~53QDFE RN THINHERL TS
W\, (BHET—T)LREMDBE) BRAEAEENDBEIIHLBEEITEBEETLEZL,
TAR— (BEEHAE) BRERATRY (M2)3(E
K& HBEOWEF t+3-4mm FURREtH4[Mm]EDRNE P 5 Eaﬁ’é LEFT
BElETEEE Ao : g : F=HOA-RENER
i°1 M2% -~
£ G BR/BEERT 5O

\

AR/ REEIHT
ML-01 B&4:+ | D REISR- RO 2 KFICRELEY 4 E B
KEEICKRETRHE: RESD LICEL KFRERBRID BV TKFITHEL
ESER
COE BB ORRESROV I EBONESTEVET, o —BEBLT. ABEIXTZEEY ENEICRET 358 FOKTREO TR KTBER UEBVTKTI
P NERETIEEY A R o 3
‘ e — - BUBFERA TS ° ° s MELVY
COHARIGEEICRE. CERAVEE DDA TRTT, VNP s 5 5 L I S .
AL BB S et . LB ECTE R ~ s OF—REDRBAIT, FTROEABEAYETSBL Y VERRL TS,
KFRERY
ﬁEEICOL\-C HOBEHE [mv] : 0 ~ 100
AHEOREREFES LCRIEREICOTEL TR
AHSICRNTNTVBMRIEE 28R, 23 EE o REHZFANILEIROBEEIET—TIL N =7 KR
BB ETBRELShEE T, AL EEROBE FEEAICH T Cib‘e - BEEEDORSD A
THRELFT.
S _ E[ﬂVJ
I[W/mZJ- <.
i ] S e v/wem
KFERERD
I: BERE [W/m2]
E: BSETHABE  (uV]
1 S: BEEH [LVAW-m™2]
g7
Cable
ML-017 ¢k KEEAH
KFREAIEFTS30TT) o BEBEEN
— KFREEEERATIHS — KFRABEEZERALAEVES . —
1 HaRN SRR | 3 FAFRBERSTEELET BRXYTFVA
LEEIR . S (LHIR):  EBIROBNERSAVETHRE
e A% CHERCE S0, R . & g B IR (4. | ) ) o TS, R BiRS LU OEIEIC, BN o
%;g;gi\\ﬂﬂgmﬁ% ﬁ <IETWVe RELET Liﬁ)ﬁ?ﬁﬁ DB EIFES| 7J<I|Z§H§/EMTJ% 7J<IP§H§{E?£E\L/ A TGN ARERL TS,
I &5 ; Jyiv— f \ T=TIVRE: BERERVT—TILAMBATHEN
N RSEHAR (17— E) HEREL TS,
BIEN
,,,,,,,,,,,,,,,,,,,,, FFoay BIER 273 BARILE 2.5mm KRS AOERERAL TKENTNTE, BE
o w/' KEREL 6.5 (M6 RILF) | AR 3-M2 RS (M2EILR) LT
=¥ S BER
® . KFEHERY (M5) x 3 (mm) ‘ (mm) ¢7m;\ \%
1, HSHEH I RS (M2) x 6 (55F43) (MBI ) | i° 0
[ | o 60 HREA REA
BFARILE (V6) x2 . ——_—
22 22
I Toe o : : o — MAEHESEE F )00
_— _— Ovv— — g ® 11
11 Fwk (V6) x2 J@ET\@ R MRS CEELES https://eko.co.jp Certified  Certified ~ Certified
°° | n | i Fuk
P - ] | [ - | P ] | [ 8 S Hit NASI—BR— 25—
- = * | * T151-0072 T151-0072
REEE (BAMEHDS) | 1 | RREEBXES S 1-21-8 RREEEXEsT1-21-8
. e 2 (mm) (mm) TEL: 03-3469-6711 TEL: 03-3469-5908
IAYIAE— b AAE x&) ! FAX: 03-3469-6719 FAX: 03-3469-5897
* B ERBAE (FEKOR—AR=IJKOA T O—RLTLIETW BT AEHKTRES: 759 B Atk 309 R PERETIHTENBOET (© EKO INSTRUMENTS CO.,LTD. QSG-MLO1-21-04J






